1.3 Solving Systems by Substitution

We already learned how to solve systems of equations by graphing. Now we are going
to solve systems of equations by a method called substitution.
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1. Practice with Linear Systems of Equations:
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2. Practice with Quadratic Systems of Equations:
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3. Word Problems
+
a) A personal aircraft is traveling@iththe wind and flies 520 miles in 4 hours. On the
return trip, the airplane is travelinghe wind and takes 5 hours to travel the

same distance. Find the speed of the airplane in still air.

‘:OGPP‘&J\L 5?(_21& + W= 520 % CIDH +w>+w: 120
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b) A field goal is 3 points and the extra point after a touchdown is 1 point. In a recent post-
(( season, Adam Vinatieri of the Indianapolis Colts made afcombineddotaPof 21 field goals
and extra-point kic@for f 49 points. How many filed goals and how many
extra-point kicks did he make?
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¢) The revenue for a production of Wizard of Oz by a theatre group isy = —50t2 + 300t
where t is the ticket price in dollars. The cost for the production is y = 600 — 50¢.
Determine the ticket price that will allow the production to break even. (Hint: a
company breaks even when the revenue is equal to the cost)




